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(e¥)' = e*
(ek*) = ke*
a=ena= g¥ = g¥na o (%) = (exlna)’ _

= lna - e*"% = Ing - a*

[(ax)’ = lna - ax]
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[Tpumep:

BblYMCAUTL 3HaYeHMe NpPom3BoAHOM GYyHKUMM Y = 5% B Touke
x = 0.

PeweHue:
(a*) = lna - a*
(5%) =1In5-5*

y'(0) =In5-5%=1n5-1 =1In5

OteeT: y'(0) = In5.
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[Tpumep:

HaiiTv nponssoaHyio dyHKumMM y = 46X+5,
PeweHwue:

f'(kx + m) = kf'(kx + m)

(a*)' = lna - a*

(46x+5)l -6 - (46x+5)l —6-In4 - 46x+5 — ln46 . 46x+5 —
= In4096 - 46%*5

OteeT: ¥’ = In4096 - 46X*5,
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1
(Inx)’ = —

X

Inx , Inx\’ 1 ,
logax= E = (loga X) — m = E . (IHX) =
B 1 1 B 1
" Ina x xlna

1
[(loga .X')’ - xlna]
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[Tpumep:
Rbluncnantb 3HaueHue npomnssogHon ¢yHKUMmM y = logs x B TOuKe
x = 1.

PeweHue:
1

logg x)' = ——
( 08a X) *na
(logs x)' = —

053] = xIn3

1

YD =115 "3

OteeT: y'(1) = é
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[Tpumep:

Rantn npounssogHyto ¢yHKumMn y = logg(7x + 9).

PeweHwne:
f'(kx +m) = kf'(kx + m)

1
logg x)' = —
(loga x) xlna

(logg(7x +9)) =7 - (ogg(7x+9))' =7 -
_ 7
~ (7x +9)In8

(7x +9)In8

7
(7x+9)In8’

OtBeT: y' =
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(e*) = e”*

(ek*) = ke*
(a*)’ = Ina - a*
1
(Inx)" = —
X
(log, %)’ = —
%8a*) = Jlna
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